1 | 2 3 4 S 6

WG NO- 900-027-584-1/2
2L~k Tt wme
e -
\\ ! ®
=
D @®
v P "3
Lo 4 -M6RIN O 5 MBxY
P - - - 7%‘ @ we ax 0 wu [-) @
| : . |[EReeeg= |
| | 3
‘ ‘ 6-M6xRY
| 1 [ P
_ | o oolo|eleldli
N | e = [OFa0] =
A
= | |
3 B ‘ o ST
< © 2-MbxY 260
o -
Ho | | RO
< |
| |
i ‘ gaMe 7 % A=
ﬁTth CN1 [10250-52A2PL 50 [ERAJ-TL ()
30| | 20040.5 | CN2 153984-0671 6 | BAELY IR ()
(BYEYF) CN3 |HDR-EC14LFDTN-SLE-PLUS |14|AZEETE ()
260 CNT |MNC23-5K5H00 5 ADVANCED-CONNECTEK INC.
CN8 |1981080-1 819+3 TLONO=OZ PT ()
F&EE L<IIEURZFEAL TSI, () B I-—9—X9ZaP) OB BEESBRI S|,
BISRIOTE BBEE: 21 . 3kg
TITLE . REV
SERVOPACK SHrm '
7 YASKAWA @ g 7777777777 8765\7/77579707/7778707/&77/& 77777777777 DWGNO @
REFERENCE ONLY R - OOA*
#aen R)IIEHE [SCALE 1 - (00:01,05) (*:ATYa A k) 900 027 584 2

1 2 3 L | | [ ] 6 | 7 [STZE] A3




1 | ? 3 4 5 6 8
DWG.NO- 900-027-584-2/2
COOL ING FAN
INPUT
NAMEPLATE TR FLow  VOLTAGE
—— 0 GLH
\\, ! ®
E .
D @® g
|
3 TERMINAL 2
- 4-M6 SCREW HOLES 2 S M6 SCREWS
| 3 o |EEEEe)=
; | TERMINAL
| ; 6-M6 SCREWS
- e | L R g
3 ‘ o lefelelelelsll
I | L = [SFa0] S L
=N w 9
3 = ‘  OUTLINE GROUND TERMINAL COOLING FAN
e ‘ | 2-M6 SCREWS 260 COOL ING FAN
S ‘
= ‘ | | FXCRRE /)
=
- : ‘ 5
| ART NUMBER OF
} ‘ Vo MODE L CONTACTS MANUFACTURER
L N S CNT [10250-52A2PL 50 SUMITOMO 3M LIMITED
30 20040.5 CN2 [53984-0671 6 MOLEX JAPAN CO.,LTD.
(MOUNTING PITCH) CN3 | HDR-ECT4LFDTN-SLE-PLUS 14 HONDA TSUSHIN KOGYO CO.,LTD. —
260 CNT | MNC23-5K5H00 5 | ADVANCED-CONNECTEK INC.
CN8 [1981080-1 8 Tyco Electronics AMP K. K. (NOTE) Refer to the USER’S MANUAL

MOUNTING HOLE DIAGRAM

The above or the equivalent is used.

for a standard for installation.

APPROX . MASS:21. 3kg

DIMENSTON IN mm

REFERENCE ONLY

};2?’ YASKAWA

&=

#aen RIEH |SCALE 1

)

TITLE OUTLINE DRAWING OF SERVOPACK

SGDV-590/780A00Ax

(00:01,05)(*:OPTION CODE)

DWG. NO.

584 7

REV.

S

1 2

3

I I 6 |

900|—027

| SIZE |

A3




